Chemistry

Section Id : 40503685

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 25

Number of Questionsto be attempted: 25

Section Marks: 100
Sub-Section Number: 1
Sub-Section 1d: 405036142
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The true statement amongst the following
is :
Options:

S is a function of temperature but AS

1 is not a function of temperature.
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Both AS and S are functions of

2 te mpera ture.

Both S and AS are not functions of

3 Le mpera ture.

Sisnot a function of temperature but

4 AS is a function of temperature.

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

freferfaa o 5 4 98 F99 2
Options:

S 19 %1 U e & T AS A9 1 UH
1. e w2

2 M1 AS TH1S 19 F Fod & |
3. 2MI S 991 AS 919 % Ferd el 2 |

S T 1 UH Fe el ¢ T, AS a
A, T UF FHE T

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A2l e [adl sl e Bed el

Options:
S o A o [HEl 8 Yig AS 21 dreuA
1. - Bl
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2 AS S ol dduiA AL [EE ©.
3. S @l AS o druid AL [E el

S i dHird [Hay A2l wiq AS =l
4, e ey o

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The solubility product of Cr(OH); at 298 K
is 6.0x10 3!, The concentration of
hydroxide ions in a saturated solution of
Cr(OH); will be :

Options:

1 (18 x10 31}”‘4

7 (486x10-29)1/4
3. (222x10-31)1/4

4. (18x10 -31y1/2

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

298 K W, Cr(OH), &1 faei=ar 1=
6.0x 1031 &1 Cr(OH), F U% Hyd faerza
T TSRS A I el 2

Options:

1. (18x10-3)1/4
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2 (486x10-29)1/4
3 (222x10-3)1/4

4. (18x1073)Y/2

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

298 K 4 Cr(OH), -l gleddl 2eusr
6.0x10 31 & dl Cr(OH), -l Acfrel gLl
Sl slsuIgs 2l Higal 2 ¢l

Options:

1. (18x10-31)1/4

2 (486x10 F)l/4
3. (222x10-3)1/4

4. (18x10 -31y1/2

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Amongst the following, the form of water
with the lowest ionic conductance at 295 K
is :

Options:

1, seawater
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2 waler from a well

saline water used for intravenous

3 injection

4 distilled water

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

208 K W 9% Wl & e, f99H A|qaE
dAFa 994 FH9 @), Feafafaa 9 %

Options:
1. ¥FE
o FH

A e Torae ia: for T J v
3. wIE

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al 2l well- e vedl |l su @154l
298 K 4z 245 cusscl 2l 2Hiel €2l
Options:

1. ekead wel

*

°
gcollegedunlag
India’s largest Student Review Platform

~



7 ganud well

Al 257 UL Srorstid U2 HASA
3 yefl

4, [edlea wel

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A mixture of gases D?_, H?_and CO are taken
in a closed vessel containing charcoal. The
graph that represents the correct behaviour

of pressure with time is :

Options:
m
=)
=11
gl N
= e
1 Time i
.~
w
E
=
2]
73]
]
|
Py
2 Time 4

Pressure
™

w

Time

S
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Pressure
_.—-‘"f

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

0,, H, @ CO i & T fagm %1 u& 7=
s H foran st © fored I 21 ofera o,
<78 1 9 % 919 el e Fefyd g,

T

Options:
E .1\\\‘“-»...

1 i —
&

2 Sk '
B

3 T0g ?
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

ARSI HRAAL 25 oY WD Al O, H,
2 CO o (2101 detml 2uss, Al 2aden U4l
4L 5 2UAUHE LSl 1B HHEAL 2l s
REa 52 & 7

Options:
2|
1 HHY d
rs
2
3—!
La®
2 HHY i
T
a7
3 e} 2
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

All2l el uglami ulss A (i <4 sulad
5) o [Huer B (ol o s2lldd ) W8 dda
4B, dl A 2nls 3 57

Options:

1. 2

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In the figure shown below reactant A
(represented by square) is in equilibrium
with product B (represented by circle). The

equilibrium constant is :

o 520

=i O

o i .
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

= fea T afa |, sAfyERE A (31 |
f&fd) 3 B ( 99 5/ F%Ya) & @1
e § B | Wy e ©

a 2.0 |:|
= B I:IKH ()
':.-' L) o
O < 0O
_\.l I:I A 'i_.-l:
Options:

1, 2

2 =

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The number of sz hybrid orbitals in a

molecule of benzene is : "
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2 12

3 15

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A1 F TF AN H sp? HF FHHI Hl T&A
%

Options:

1. 6

2. 12

4, 2

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

orartetl 2401 2l sp? Hgel saisell vl 2Ll

Options:

1. 6
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Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The first and second ionisation enthalpies
of a metal are 496 and 4560 k] mol !,
respectively. How many moles of HCl and
H,50,, respectively, will be needed to react
completely with 1 mole of the metal
hydroxide ?

Options:

1. Tandl1

2 2and 0.5

3' 1and?2

/. 1and05

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

UF 9Ig F WoH 991 fGiE AEe e

T 496 9T 4560 k] mol ~ ! ¥ | TH HieA 1

BIESEEEE H Yuiaal AfHEa & faw HCl

a9l H,S0,, & T Al ®1 Ar=ydsal

arft ?
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-‘I 19911

2 2705
3. 172
4, 17M@05

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

245 eigell e oA [gelly 2ussel s
w5 496 24 4560 k] mol ! 6. 1 mole
Bl SLBSIRUES 212 Ayl ML s3e, 153
Szdl Wi HC 244 H,S0, -l or® usal)

Options:
1. 1241

2 22405

-2

3. 121

4. 12105

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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5 g of zinc is treated separately with an

excess of
(a) dilute hydrochloric acid and
(b) aqueous sodium hydroxide.

The ratio of the volumes of H, evolved in

these two reactions is :

Options:

1. 1:2

3 2:1

Question Number : 33 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

5 g Tsi® =1 SAeT-Her

(a) T eGSR 35 a1

(b) I HIfETH SCSFAEE F AT F
a1y AfafeRtaa v s 2

T = AfuEwEs | setsa H, % A

T I T

Options:

"|_ 1322
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Question Number : 33 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
5g (3% A a4 sdl
(a) s adsisdlEls v 2

(b)

HIEL ofEL-s(EL 2124 s2cll @Al vzl WL [Asud

H, -l

s¢el AUl ldsisHgs

5L 2Ll 2l

Options:

1'1:

Question Number : 34 Question Type: MCQ Option Shuffling: Yes

I3

Correct Marks: 4 Wrong Marks: 1
Among the statements (a)-(d), the correct

ones are ;

(a)

(b)

Options:

Lithium has the highest hydration
enthalpy among the alkali metals.
Lithium chloride is insoluble in
pyridine.

Lithium cannot form ethynide upon

its reaction with ethyne.

Both lithium and magnesium react
slowly with H,O.
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1. (a) and (d) only
%> (b) and (c) only
3. (a), (c) and (d) only

4. (a), (b) and (d) only

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

FA (a)-(d) T T FAE

(a) ER-=gai # fafaam +1 Femme et
Tl aAfar ¥

(b) wifaas FemTse fafEm | safaeE T

(c)  TToH TaTEA | AT Fih UHEAGE
& = T B |

(d) wifeEm 9o FEiEEy SH 99 F Wy
offy- sy sxfaferar =2 2|

Options:

1. (a) @1 (d) A
2. (b) T (c) 7EA
3. (a), (c) T (d) A=

4. (a) (b) 741 (d) A

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 .
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el [l (a)-(d) 4l e =i (G

SUAl :

(a)  2hesdl gelnl [ERmAL svadisr G
il uy .

(b)  [dell sdiids MREAML 2g1e 8,

(0) (Al daudd el wiai delluds

oetetell Al
(d) (AR 2 HoRe ol H,O @ 4l
IESTEERS
Options:

1. @) 2 (d)

9 5 (b) @ (o)

3. 55 (@), () - (d)

4, % (@), (b) 2 (d)

Question Number : 35 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
The reaction of H,N,B,Cl, (A) with LiBH,
intetrahydrofuran gives inorganic benzene
(B). Further, the reaction of (A) with (C)
leads to HyN;B5(Me),. Compounds (B) and
(C) respectively, are :
Options:
1. Diborane and MeMgBr

2 Borazine and MeMgBr
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3 Boron nitride and MeBr

4. Borazine and MeBr

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

H,;N,B,ClL, (A) &1 ZRESFHE d LiBH,
F Wy Afufma srwEfTE S (B) 36 2
#FT (A) =1 (C) = |9 Af9fHa1 H,N,B,(Me),
&t &1 AT (B) 791 (C) FHE: €

Options:

1. STEEI e MeMgBr

5 it a9 MeMgBr
3 AN T1E2ES 991 MeBr

4 AT 991 MeBr

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

H,N,B,CL, (A) -l 2g1e18gis421 i -t LiBH,
12 UL sl 2s10[Hs ol (B) =uu 8.
gl (A) -l (O) e ulbsau 52l H,N,B,(Me),
2 . ol ddlert (B) 2 (C) 54 2lEL
Options:

1. Stelizd 4 MeMgBr

2 ¢l 2 MeMgBr
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3. cliRiudgds # MeBr

4. “REA 2 MeBr

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The isomer(s) of [Co(NH,),CL,] that has/
have a C1—-Co~—Cl angle of 90°, is/are :
Options:

1. trans only

2 ) cis only

3 cis and trans

4 meridional and trans

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

[Co(NH,),CL] & @HE==s foad /i8]
Cl—Co —Cl %19 90° =1 &, 8/% :

Options:

1. F
2. =
3. To| 9w o=
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4. Wity a9 2

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

[Co(NH,),CL,] it :4%82s(5l) i Cl—Co—Cl
VO 90° Al &9, o 2WAl :

Options:

1. g

2 5 g
3 o gy

4 AU 2 2

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The correct order of the spin-only magnetic
moments of the following complexes is :

@M [C(H)O)g]Br,

() Na,[Fe(CN),]

(I) Nas[Fe(G,0,)5] (8, > P)
(V) (EtyN),[CoCly]

Options:

1. (@) >@>(v)>(m

2. ()= ([IV) > (1) > (o)
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3. (M= () > (1V)> (1)

4, (W) > @)> (1) > qV)

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

frfefiaa Tl F TaT- A1 TEHE AT
(D [Cr(HP_D}b] E!-r2

() Na,[Fe(CN)]

() Nay[Fe(C,0,),] (A, >P)

(IV)  (EtyN),[CoCly]
Options:

1. (> @) >1V) > (1)
5. (> (@V) > () > (1)
3. (M= () > @V)> (1)

4. ()>@> (> av)

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Alzl e dbeHl g5 2dlA deisly asHe
Al 120 53 2Ll

(D [Cr(H,0)4]Br,

() Na,[Fe(CN)]

() Na,[Fe(C,0,),] (A, > P)
(IV)  (EtyN)[CoCly]

Options: .
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1. (> @) > (V) > (M)
9 (1) > V) > (1) > (1)
3. ()= (> (V) > ()

4, (M) >@)> (1) > qV)

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Biochemical Oxygen Demand (BOD) is the
amount of oxygen required (in ppm) :
Options:

1. for sustaining life in a water body.

for the photochemical breakdown of
waste present in 1 m> volume of a
2 water body.

by bacteria to break-down organic

wastle in a certain volume of a water

3 sample,

by anaerobic bacteria to breakdown
inorganic waste present in a water
4 body.

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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SAEEAF SIS 81 (BOD) 999
SATdTs &1 A (ppm H) 7
Options:

U HAE H SiEA I SrHHeE A
1, whm

TF FewE F 1 m® Agad § SufeE
2 I % FEEEE q9H % fa)

U AeA-Hiaeyl & UF [yad A& |
AT G FE 37U % Yo &
3, fem

FAAEAT AR G T 9T H
UM SAFEAE A= F 99H F
4. F

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

iUl WAL (ppm Hi) ewlls Bisd
wllsser Shies wil Al=lmizl wisul szl ©.
Options:
1. ¥R e 2stel e

1 m® $ElOl sf AR>1aAHl 5-3ULAL
3 usRE(CS (Gued we

el 214 sEAL A4ARL stedlAs s
3 el gri Fee-
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o AUl glory sleilds sud
4, 2eiRlles sl b [Hueq

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The decreasing order of basicity of the

following amines is :

NH,
|_ N
N @
0 o
[

_NH, N

(J |
m) )

Options:

1. @> > > )
9 (W) > @) > () > V)
3 (W) > (1) > (IV) > ()

4 (> >(v)> ()

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

°
gcollegedunlag
India’s largest Student Review Platform

~



frAfefEa UHAT F1 A &1 92d %9 2

R -
@ (II)
[
e o |
= H
() (IV)
Options:

1 (@ > > (D> 1)

2 (> [ > () > (V)

3. (m)> () > (V) > ()

4. (0> >(v)> ()

Question Number : 39 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Al 2irdal gAML AR SAAL szl 54 2UEL -

NH, ’__::_HM
< 9
(.I} (IT)
s NN mNJ
[ |
(IIL) (IV)

Options:
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1. (@) > () > (D > V)
9 (> 1) > (1) > (V)
3 (W) > (1) > (IV) > ()

4. (0> (> (Iv)>m

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of the following has the shortest
C—-Cl bond ?
Options:

1. Cl-CH=CH,

2 Cl-CH=CH —-NO,
3. Cl-CH=CH-CH;,4

4. Cl-CH=CH-0CHj;4

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fr=fafEa ¥ 9 fogd 999 9@ C - Cl A=y
2?2

Options:

1. C-CH=CH,
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2 Cl1-CH=CH—-NO,
3. Cl-CH=CH-CH,

4, Cl-CH=CH-0OCH,4

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al2iAL Hioll Sl C—CT vie g5l 51 87
Options:
1. CI-CH=CH,

9 Cl-CH=CH - NO,
3 Cl-CH=CH-CH,

4, Cl-CH=CH-0OCHj;4

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

°
Qcollegedunlaé
India’s largest Student Review Platform

~



A, B and C are three biomolecules.
results of the tests performed on them are

given below :

Molisch's

Test

Barfoed
Test

Biuret
Test

Positive

Negative

Negative

= | >

Positive

Positive

Negative

)

Negative

Negative

Positive

A, B and C are respectively :
Options:
1 ) A =Lactose, B= Glucose, C= Albumin

2 ) A = Glucose, B=Fructose, C= Albumin

3 ) A =Lactose, B =Glucose, C= Alanine

4], A=Lactose, B=Fructose, C= Alanine

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A, B @91 C H 9@ 1 R 7 T
T

[ T L

T =1 9y A T T

AHE | AEYE
T

B
C

A, B A9 C #99: 2 :
Options:

1. A=TFME, B="e[HMH, C= T
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5 A=TeHE, B=TFS, C=T=M

3. A=TIFE, B="q%4, C=UeH

4. A=TE, B=F%, C= T

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A, B 2 C A8 syl 8. dusdl G
s3] s4ledls d-l el A2l 2udal .

difaz | esls 32

512l 5312l sl
Al E5RICHS | ASRICHS | “A51R104s

E51RICHS | SSIRICHS | ASRICHS
C| ASRIcHS | A5RIcHS | ESRICHS

=

A, B C 2453 :
Options:
1. A=dsis, B=5l, C=2colA

7 A=%{sls, B=g52bs, C=lesppiiH
9 A=ds2is, B=%ss, C= 2d-ldn

4, A=dsely, B=gs2hs, C=2d164

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1 gcollegeduniag
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Which polymer has ‘chiral’ monomer(s) ?

Options:
1 Neoprene

2 ) Buna-N

3 Nylon 6, 6

/. PHBV

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

TEeTF THF UFas F T, T
Options:

1, T
2. =W-N
3. A5 6, 6

4. PHBV (qt.w= =)

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sy e Slid HidMz 4z1E 97

Options:

1. Gellbi
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2 OYefl-N
3 AlMdlA, 6,6

4. PHBV (dl=izofldl)

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of the following reactions will not
produce a racemic product ?

Options:

" HBr
1 CH,CH,CH=CH, ——

2 CH;
CH,
| HCI
iCI—IE,—rilj—~CH=ICI-I2 —
3 H
O
HCMN

[
CH;—CCH, CH;——

4.

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

frafafaa sfafraei 9§ 9 9959 v afs
IEqTE Tl 2 7

Options:

°
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1. CH,CH,CH=CH, ——

2 CH,
CH,
' HCI
CI—Ia—tlZ—CI—Iz(ZI—Iz kit
3 H
0
Il HCN

4, CHy—CCH, CHy——

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AlziAL 2 UL 59 3318 Aler 2043l
(7
Options:

" HBr
1. CH,CH,CH=CH, ——

H3C .
\( ~, HCl
7 CH;

°
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CH,

| HCI
CI—IS—R‘li—CH=CH2 L,
3 H
0
1 Cl ls—ccngcng_ﬂ

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In the following reaction A is :

H. O

(i) Brs, hv \K
(ii) KOH (alc.) D
a (1) Oy i

(iv) (CH3),5
(v) NaOH (ag) + A

Options:

|

°
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Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

frefafEa sifafFEa 5 A %:
H. O
(i) Bry, hv
(ii) KOH (Te=igtd) =~
AT o, "
(iv) (CHa)sS
(v) NaOH (S1&fiF) + A

Options:

P
. L

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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A2 2dedl ulEm A LAl

M. KX

(i) Bry, hv \(
(i) KOH (2uesl) =~ ™
A O, ’ u

(iv) (CH3)oS
(v) NaOH (ag) + A

Options:

J‘

, ]

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Consider the following reactions,

(i) NaNO,/HCl,0-5 °C

[11) [3- rlaphlhﬂleaDH
* Colored Solid

|"
|'

[Pl
' Bry/H,0

» C;HgNBry

The compound [F] is :

Options:
NH,

J\WCH3

1.~

NH,

-
|
Lo

-

Nng

€

CH,

Nucu3

o
NEH,

Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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TrafafEa sAfafwme ® fH=Er Fifeg

(i) NaNO,/HC], 0-5 °C
i) B-TeTe/NaOH |
Ll

I
!

[P1—
Y Bry/H,O
 Pry/H0, CyHNBr;

Options:

NH,

|~ CH;
B e T

o
O

NHCH,

OJ
4, 2

CH,
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Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

A cylinder containing an ideal gas (0.1 mol
of 1.0 dm?) is in thermal equilibrium with
a large volume of 0.5 molal aqueous
solution of ethylene glycol at its freezing
point. If the stoppers 5, and 5, (as shown
in the figure) are suddenly withdrawn, the
volume of the gasin litres after equilibrium

is achieved will be

R ) e [T e e

(Given, Kj' (water)=2.0 K kg mol 1,
R=0.08dm’ atm K ! mol 1)
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :
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Answers Type: Range
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Question Number : 47 Question Type: SA
Correct Marks: 4 Wrong Marks: O

10.30 mg of O, is dissolved into a liter of
sea water of density 1.03 g/mL. The

i

concentration of O, in ppm is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:
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Response Type: Numeric
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Show Word Count: Yes

Answers Type: Range

Possible Answers:
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Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

A sample of milk splits after 60 min. at
300 K and after 40 min. at 400 K when the
population of lactobacillus acidophilus in it
doubles. The activation energy (ink]/ mol)
for this process is closest to
. s

(Given, R=8.3 ] mol ~ 1K1 ,;nhj =04,
e~3=4.0)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
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Possible Answers:
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The sum of the total number of bonds
between chromium and oxygen atoms in

chromate and dichromate ions is
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Consider the following reactions

(i) CHyMgBr B Cu

» 2-methyl -
(i) H,0" 573 K y

2-butene

The mass percentage of carbon in A is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
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66.65 to 66.70
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